
AGA 6-4 
CLASSIC

(UNIQUE PARTS LIST)

SPARE PARTS
MANUAL

LPRT 514185 DATE:  JUNE 2005



A
G

A
 6

-4
 C

LA
SS

IC
U

N
IQ

U
E 

PA
R

TS
 L

IS
T

2



AGA 6-4 CLASSIC JANUARY 2011
UNIQUE PARTS LIST

ITEM No. CAT No. DESCRIPTION PRODUCT CODE

1
2
3
4
5
6
7
8
9

10
11
12
13
14
15
16
17
18

18A
19
20
21
22

22A
23
24
25
26

26A
27

27A
28

R4501
R2895
A5523
A5107
NCA
A4848
A4849
A4847
A4844
A4845
A4846
NCA
R5852
A4554
R2630
NCA
NCA
NCA
A4791
A1567
A3798
A5255
A3022
A5190
R6413
A3954
A4950
NCA
A5179
NCA
A4921
A4770

M6 FULL NUT
M6 WASHER
DOME HEAD SCREW M6 x 23
CLASSIC SPLASHBACK BADGE
SPLASHBACK ASSEMBLY KNOB
CONTROL KNOB - BURNER 4.5 kW
CONTROL KNOB - BURNER
CONTROL KNOB - GRILL
CONTROL KNOB - FAN OVEN
CONTROL KNOB - TOP OVEN
CONTROL KNOB - SIMMERING OVEN
L/H HANDRAIL BRACKET
GRUB SCREW M5 x 16
HANDRAIL BRACKET FASTENER
M8 FULL NUT
CONE POINT GRUB SCREW M5 x 6
HANDRAIL BAR
RH HANDRAIL BRACKET
HANDRAIL ASSEMBLY COMPLETE
FIXING CLIPS FOR ITEM 20 (PAIR)
CLASSIC DOOR BADGE
SCREW M6 x 20 LG
DOOR LINING PANEL - UP TO M06-179
DOOR LINING PANEL - FROM M06-179
ROCKWOOL
DOOR SEAL ROPE 4 x 1185 LG
WASHER
LH BOTTOM DOOR - CLASSIC
LH BOTTOM DOOR - CLASSIC COMPLETE
RH BOTTOM DOOR - CLASSIC
RH BOTTOM DOOR - CLASSIC COMPLETE
GRILL DOOR ASSY - CLASSIC

KNUT52668
KWSR53308
KRCK500519
AG4M251128
AG4M251201
AG4M251220
AG4M251221
AG4M251219
AG4M251216
AG4M251217
AG4M251218
AG4M250959
AG4M250612
AG4M250533
KNUT53061
KGRB500526
AG4M250379
AG4M250958
AG4M250960
AO9M38850PR
AG4M210990
KCSK500339
AG4M250923
AG4M240436
MRWF35400
AE1M230400
KWSR53500
AG5E250965
AG9M997574
AG5E251198
AG9M997177
AG9M997062

3


